aséma‘i

£9. BYNS DBNLN LBE WBAND. (Write the word meaning)

eINed3 = eﬁo%, I3, VTR, QDR = 33U, T3,
RBROBL = B DR YVBRBNY SSWD

33, = 353, 3T T = 3ed), S0, 3
2302 = BOWD), VOV BTG = ZPpe, DY
a)s?s = 2000, e MO = TR

P = JTR, eJo0d D93 = T9)T, VB,

3. D3 FYIY, SoWO. (Fill in the blanks)

0. 98 IR et BOTTe BRI Bueipose.

9. N33 M,®d DOTBLME WO 8B9BY) 0,033¢€.

Q. ARV WAV 3T @cgdra zeD aomari/a 2,033¢.
@, FBDB Jednva e fzzcgdra WD DN 203¢€.

Q. B YN DNV 2,00 208BO GVBOIV. (Answer the following
in one sentence)

0. DZMS PO STT B0 Torie B OIY, FoBe3DII?
eU: DB MR SBBO THTT B0oSNW 23023B00BTR W3 2,083e
DO BoBeBHNT.

9. DM BBBO BAMY e Borte FOI TD OTIJY
BADIS?

V: BN BBBO BAMY W DO, BT HoO DWe3p0T



Q0T FAWBT.

8. B0WDS 2> oYW SBodedToNt?

oV: TR P> ITVW D) LIPBNY FodedwoNa.

¥.0BMON BSSA 83T 73,08 03reych?

o: BTN SBIV B8BT 0B “Red VYT aeed”

8. B BYNS BF RO OTWD-TweD FZMHY euB0I0. (Answer the
following in two - three sentences)

0. ©3e330DO HIZDRY, T D) IV Fert SPDIS3?

&V: OB BR0WVNR WFedBR0B3R 20T w0T3e. Tt )T SDNK
BOTTRe YN BpRS BB .083e. bert wdes3abd) HBZ0hI)
DT DA SRR SPDES.

9. QDY TodT BB, NPPTRe BROM T wode BBoNDE Sclad
3INTeD?

e: QDY 8593BD 23BN ToITD) DTS, T3 RO
T 202) e PR AerDTIN. Tt B 3eTNLPTRe 03T
PSS TORMIANENSANAVE N RARIAL g LS}

8. 27903eahB FeeIoses Torte Sewepaearisd PFDoNGD 303
00Te 0T, B) A ATBBEINPIY NeBwT?

e mdéde‘)ﬂ SPD WRod esoacﬁﬁrﬁ@dodra TR 20083, TN 93
3B FeNw &3e3 23ed sNFde Fexdd dwdre wode.
DeRIPRON 23eT 23eT esﬁcgdra NISle ST RMIOIASIARARIALV AL
203 Q0T Be) ABBEINYR), VBT



. 8 BYNS FZNOM Q0L - BR) TFNTO VBOID. (Answer the

following in eight - ten sentences)

0. F9STR 2,0T3e 3908 IDripore O JITS, B VDS
ABBESINT I ?

o: B 8.0, dTDNZ)D ITD BOFY) BROWNKW 230e3Be0BT e
BB, WA w0Te. To)T JONW BOTTe JYNWD PRI BB
2033e. QDI ToJTD 3, NPFTe RO B wotde. edd D
DoTBONY WO 8593 w0T3e. J9TBTO )T Ded0d B8TITI
QTR TeSD dVBNRR woTe. BOFP) WHNY BRNVFZTe ST
BN DWDPY) wode. IF DB Yednva e agte 3330 WDHHRE
VR 0T, I WYBDNY T3,0d W) B FoTITDD TR 20T DO
ABBEINERY, NeBweT.

9. VBN BTT F) B JoreSTeD?

e: JIT3TO BIT VR, 50560)3, 0@, BE, SR 23ed
e3e30dreNZD) T B30T 2,03 DO JTITS VT, IT3TA
BT DR IS, BRI, BB, R, SVBONVMIN BNRYDBT
QL3 )DI,TVNOT NOBVTR 2,083 DO WIITDOT QAcjeds.
VOR) 03T msﬂ,w aﬁg( D DBTIW D WOIBT B3 o—’gjﬁéojmg(
TRV TG @erdBT. &erreN Sady FZ)3ah BOF) IBBEINT
SWRVB 2033, BB0d FoT3 BT, 3VITT.



o). BOTIFB IBOID. (Write the context to the following)

0. “BOY) BoWJNY 23923800830 DTB, WA 2,08,

esad),: B8 BIY Be V.0 BTHT)HTSD OB “ed BT hedS”
QO 33T MO aoéémd D0 acsé&ocs esoigéra%mﬁzj.

TOTRIE: 23903 23eT e3eT FE, Wod, DoNBRLTTe HF30
DRREPITY) WOTe. T BEoBT VT BeoNR) WedBR0TBD
e9RT T 2003¢ QO K’)odzjm@m B dméaig( BeBTING.

9. BOFR) WENY BN TS B0 DdZpodse.

0l),: 85 B, de B.OTF.dTDHTTE T3D T3 “ded QT et
QO 33T MO asémd ATOLA) acséaod esahgara%mﬁd.

Box3e: 3B B Fednvae Agde et33Y WRDHRE B woTe.
Forfe BOFY) WENY BRNLZAe FTWBVS FOR DRI 0T Do
BoTRIFTY B By TeFeToNT.

. ¥ BYNRY 58,0 edh) @ B0 T 0T3¢,

0l): B B, de V.0 dTHTT T3D T3 “ded T e’
QO 83T M)0BT easasmﬁ ATOrA) 3(36&05 e300080%,T0NT.

03BTY VAT T WS, BE, FT3e3, Jod, FVBLNYTaN
RNPDTBT Hed ci)zr%ﬁ&od mde)mdra 20003€ Q0 DR EIIR0T
RGeS, Torie ITe WYNY 55,0 D)3 ToTRD BT w0Te
Q0 TVoTIETO B T3, BePUINT.



2. BYNST SBRET T3 d SWNERY, WSADD. (Write the
synonyms for the following)

QD3 = 37, D

SZS) = 39T, 3B,

3 = [RADVE, oD

3BLN = BBVT), TN

QDR = 33, T3,

Q. FPNS ITNLYN ch)CDQCﬁ‘FS 56(1%35.3( W3BADO. (Write the opposite

words)
BN X QAR 303 X 93¢
NP X WD DO X BOI)

0. BYNS BTN, T,08 @eBBY TAD. (Make your own sentences)
VoBVTR: DT Jed el @eerb3gied.

Ned3 : 85233 IZINW ened3moNas.

SBDB: S, SBHE JIDadreNSeSe.

€80933: 0rocerield [elT BSTIEN Srerele.

. IYNS SBNY, DB TADO. (Split the following words)
Be3ReOZ00 = Be3BeYO + agde

Srteodde = Iort + wotde

3BeR0T = BB + 2,08

3B, RPZTD) = 33,1 + gD



DRR0T = DR + 2008

mdumdo = Do) + AV



